spectrum number

& and x

0.5

Mean Spectrum

rm180 F*aﬂﬁﬁ’&’é %308 kv
T T I T T T T
L
T
LTm
E 0
o 1AVG
[
~ cont
o 1
= Fe2
‘._r<
BLR
o 1, VA‘ PN
VTP T YITN NLR
Wil
1000 1500 2000
A (R) z = 3.10101
RMS Spectrum
rm180 BLR 10610 NLR 900 km/s
N T T \_ T T _! = T = T T |_ T T 7 TTHE
[ | ; — —_— —cont
—~ n [ . [ . [
To-f | , [
= :
. | | , [
o j l I :
5§~ . | : :
o Ik
: L l |
T ow \ gLl
2° lnl iﬁ IM i
~ Vgl
- AL LI T
|
ol M 1l 1] R ! bekualoshaiald A mmu”w
P ey qLa
' \er [\ e\
III'hIIIIIIII

1000 1500

A &) z = 3.10101

2000

x(A\t) = ( Data — Model AC5 ) / o X
x3/(409770-5131)=1.083=>1.008

"
[=]
@
~N
=] -
o
o
o
¥
T
o
o~

-2

1000 1500 2000

2<-6.00
bad:508=0.12% A (B) z = 3.10101
4 = 0.015(30) x = 0.944(96) => 0.943(96)
rm180 med(mad) A,
T

1.5

4

kel

Nl \, \'
'Y’mm“lr[" M_ ),

: "]T"!f“'lll"f lhm‘.m,m 1"[‘. p1| 1

\

1500
A (&) z = 3.10101

2<-B.00

& and x

0.5

f) (10717 erg em™2s7'87")

2

0

-2

10

bt}
-

1.2

0.9

Continuum Lightcurve

med(mad)%

Ac(14868) 1.7(11.1)% S/N 77

rm180

11443 )
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rm180
T T T T T 1 T T T T 1
" 1 " " 1 " " 1 " " 1 " " 1
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
rm180
T T T T T 1 T T T T 1
" 1 " " 1 " " 1 " " 1 " " 1
7000 7500 8000 8500 9000
MJD — 2450000
4 = 0.0163(132) x = 0.941(30) => 0.941(30)
rm180 med(mad) AC,

R — A - R —
7500 8000 8500

MJD — 2450000

A -
7000



